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MOCOEUR Richard
GOGUELY Pierre

LE SIMPLE FPhilippe
FAYOLLE Bruno
ROGGEMSTEIM Steven
DEGORCE Samuel
FABER Michel
VAQUIER Albert
BOURSY Eric
DESPOUY S Colin
DUBUNSS0ON Jean Bernard
REYREAL 5tephane
FAYEMEMNDY Teo
BATALOV Azat
MOURGUET Didier
SCIPION Christian
LESIMPLE Alexandre
ESCHLIMANM Dominigue
REYREAL Eden
GODART Bertrand
RAMADOU Vincent
CHAUWVIN Michael
REYREALU Sacha
WEMNCLIK Luc
DELAGE Carl

BECHK Victor
COIFFARD Cyriul
FAYOLLE Ludovic
CARBOMNIER Jacgues
SEEGERS Aurcre
DARRAS Jean
DELAGE Jean

Grille américaine apres la ronde 5

Rapide
1980 R
1810 R
1388 E
1660 R
1810 R
1780 R
2170 R
1510 R
1230 R
1340 R
1388 E
1580 R
1500 R
1360 R
1480 R
1470 R
1388 E
1280 R
1100 R
1270 R
1188 E
1388 E

040 R
1388 E
1388 E
1330 R
1388 E
1388 E
1388 E
1388 E
1388 E
1388 E

TELETHON 2014
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hin M
SenM
Wethd
SenM
SenM
SenM
PupF
SenM
SenM
SenM
Poul
Junh
SenM
PupM
SenM
SenM
Wethd
SenM
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R
+11B
+ 28BN

- 6B
+ 308
+ 17B
+ 3N
+ 32N
+ 148

+ 138
- 1M
+ 24N
- 10N
- BN
- 18N
= 266
- BN
+ 158
+ 27
+ 28N
+ 228
-21M
+ 258
- 12B
- 23N
= 16N
- 186
- 2B
- 20B
- 4N

- TB

R 2
+ 10N
+ 1BB
+ 22N
+ 18N
+ 20N
+ 218
+ BB
- TH
+ 11N
- 1B
- BB
+ 238
+ 168
+ 328
+ ZBB
- 13N

— T

- 2M
- 4B
- 5B
- BM
- 3B
-12HM
- 28N
+ 24B
- 28B
=17THM
- 186N
+ 28N
-31B
+ 30N
- 14HM

B3
= BB
+ 4M
+ 188
- 2B
- 7B
= 1M

+ 128
+ 158
+ 28N
+ 24N
- BM
+ 18N
+ 23N
- BM
+17B
- 16N
-13B
- 3N
+ 31N
+ 258
+ 28BN
- 14B
-11B
-21M
+2THN
- 268
-22B
-10B
= 32N
-20B
= 30B

R4
+ 12N
+ TH
+ 8
+ 14N
+ BN
- 5B
- 2B
+ 20N
- 3B
+ 26N
+ 288
- 1B
+21B
- 4B
+ 168
- 18N
+ 238
+ 25N
+31B
- BB
- 13N
+30B
-17TN
+ 28BB
- 1BB
- 10B
= 32N
- 24N
-11M
-22N
- 18N
= 2T7HB

R A
+ 2N
- 1B
+ 7B
+13B
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- 3M
- &M
+ 22
- 6B
+ 21N
+ 18N
- 4M
+ 18N
+ 20N
= 268N
-12B
- 14B
- 15B
-11B
- BB
+ 31N
+ 28N
+ 30N
= 17B
- 16N
=328
-24B
- 25B
-23B
= 2BN
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Tr.
1334
1334

12
12
1134
1534
15
13
13
13
12
1134
1134
11
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10
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13
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